














(M7.6,2266km)

(M6.9,A35km)

M7.8,A50km,
M7.5,A65km

M6.5,X10km

12.2 Kine

20.8 Kine™ 13.6Kine™

180 gal

270 gal ™%, 370 gal™

12.6 kg/mm?

44.7 kg/mm?

4.5 kg/mm?

23.9 kg/mm?

235 kg/mm?

37.4 kg/mm?

1.1 kg/mm?

21.2 kg/mm?

1.6 kg/mm?

39.0 kg/mm?

0.08 > 107 rad

2.00 =< 107 rad

*1

*2




(M7.7,2A64km)
(M7.4,A54km)

(M7.0,235km)

(M6.8,/A43km)

M7.8, A50km,
M7.5, A75km

M6.5,X10km

12.1 Kine

17.1 Kine™ 13.6 Kine™

180 gal

270 gal ™, 370 gal™

26.9 kg/mm?

44.7 kg/mm?

2.1 kg/mm?

23.9 kg/mm?

25.6 kg/mm?

37.4 kg/mm?

0.4 kg/mm?

50.1 kg/mm?

1.9 kg/mm?

38.7 kg/mm?

0.10 > 107 rad

2.00 >< 107 rad

*1

*2
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